xz..]
(X1 Xx=1)

lsxrkwxee

o - Solvmg Trrg Equat:ons Part2 |
' | E ‘Quadratlc Trtg Equatlons- *Remmder sm x— I- coe x \‘
-Solve 0<x<27r . ' | : |
siﬂ?x-_-%iOf T cogizlx—-l.ﬁ'ol o
S\hlx_zf'l% C@S A= . .
S 1 ) COSX':-—-\ ‘
. ~ S K== A . S,
| ’_:mf:"’i" I o R JWLQLE
><m(o,,b,."‘f {o . S |
Last day we solved lmear equations, what about factored ones 0<x <2z ?
(X 51)&4-3) 0 (cosx—1)(tanx=1)=0 R 2cosx(cosx.+;J;O
Cos x=1=0  tan I"“'-“O- o 2wsx=0 s xH2=(
Ccosx=t o tanx=) o R
x=0 0 ATy

So far.our newest strategy is to factor equatlons in order to solve them
One thing that can help is making a substitution

Trrg expresszon : - Substitution
“sin’x=3sinx = SmK(Sln X- 5) bz" ?3!0 loUo 5)
csc® x—3cscx—28 = ((SLX :l-)[(SC X*‘t) h _5b~28 = UO""‘)UO"'L*B

Zcos ,‘x+7cosx—4=’(2(°5¥"IXCO5X 4"']) 2_]0 .t.'.{-b Lt ZJQ &'Bh to~4H-

2o+ <1 br4)

Solve by factorlng 0<x< 27r | | = (Zto ﬂ{bt‘ ‘—!}
2sin’ x—sinx =0 ‘  sinxcosx=2cosx
Gim X (261 A% =)= D | A X DSX - 1a>s>x-0
Sinx=D 2Siax-isD | osx(s\nx -2)=
<=0 T . gm‘ﬂt et _0 '{;mx =D
. 3 s . _
- el 2,5 .

*Be careful with the tangent ratlo'
tanxsinx+tanx=0

([ 4o x(Sinx+£1)=0
|  tan x=0  Siax+1zD

' X _ 3w
T X5 T



-— e

Solv'e by factoring and staté the éenéfal- soIﬁinn' Lo
- © cos’x—cosx—2=0 - 2sm X 3smx+1—0 : 2)( ‘5X+§ 0
(X”Z.X H‘]e | ._ zsmx—\ 0 smx I-O

COS)Q-"Z 0 (()LSXH ()
oS WAL Lo x--"l

Sm X‘ Sin: ,K l

Some equatlons are very dIffICUlt to solve algebralcally

~ There are two methods, for solving graphlcally that are commonly used,
1) method of intersection 2) mtercept method

] prefer the intercept method because 1t is easwr to set up your wmdow :
- 1) Set up the equation - B . o

2) 2™ Trace (calc)

3) 2: zeros

4) window :

x = should. match the domam o
4 y = can be 1 to 1 (anythmg that shows the x-ax15)
Ex.

' . Solve gréphlcally' 0<x<27%:

Ly

cos3x';-;’;cosx+.130 . - ._Si;l')C;f"
X=l2‘2')50‘+ | . x.-&‘l-?}) 80
| | | [ 84F5)

b

Soivung graphically with exact values: .
It is possible to solve exactly w1th the graphmg calculator. The adjustment we have to make i is
~ on the x-scale: _

Let’s look at the special angles:

: Z Z :21' What is the LCD of the spemal angles? ‘ .
If we set the x-scale to the LCD then we can see which ‘tick’ mark the graph Crosses at

Ex
Solve exactly 0< x <27
2sin? x=1-=sinx

- AU ¢
=1 b
0r ..
12 b
3w 3w




